MATH 12
POLYNOMIAL INEQUALITIES

Name Date

1. Use the graph to solve the inequality 2. Use the graph to solve the inequality
x2+2x-3<0 X3+7x2+10x=0

3. Solve the inequality (a — 2)(a+4) > 0

4.  Which graph represents the solution for x*> — 9x + 8 > 0?

5. Solve the inequality 15 -2y —»* <0 6. Solve the inequality:
x+4)x-2)x—-6)>0
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7. Solve the inequality: x3—-13x-12<0 8. Solve the inequality:
x*+8x3+15x° —4x - 20 <0

9. Solve the inequality: 10. Solve the inequality:
xt—10x3+27x2 - 2x—-40=0 x34+x2-10x+8=0
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Answer List

1. -3<x<1
| | | |

| |
4. N | | | | | |
-10 -9 -8 -7 -6 -5
7. X<-3o0or-1=<xx<4

10. 4 <x=<lorx=2

Catalog List

1. AW2 DE 1

4. AW2 DE 13
7. AW2 DE 37
10. AW2 DE 40
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2. —5<x=<-2o0rx=0 3. a<—-4ora>?2

| = v L N

ety 3|t XN

-3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

8. -5 < x < -2 or 9. x<-lor2=<x=<4or
—-2<x<1 xX=>5

2. AW2 DE 5 3. AW2DE9

5. AW2 DE 17 6. AW?2 DE 33

8. AW2 DE 41 9. AW?2 DE 43



